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Avvovpe pe v péBodo TV avTIfETOV GUVTELEGTMV

{\/§x+2y=5 _ B +2y=5
V3 |x+By=23 A3 ~3y=-6 (+)

—y=-l=y=1

Axoun X+J§y:2J§:>x+J§-1=2\/§:>x=2\/§—\/§:>x:J§
Apa (x,y) =(\/§,1)
k2

Avvovpe pe ™ péBodo TV avTifeT®V GUVTELECTMV :

{Zx—\/iy:4 - 2x—2y =4
2 |V2x+y=42  |-2x—2y=-8(+)

2 2J_

\/E \/_

Ao 2X—2y=4=2x—2-2=4=2x-2=4=2x=6=x=3
Apo (x,y)=(3,«/§)

a2y
N; {x—y=J§—J§ {ﬁx—ﬁy=¢€—z

~22y=-4=y-=

Bx++2y =5 - V3x+2y =5 (+)
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R o=~ V) V)

_ 62~ IJ’+3J‘ 33 _ 2/3-3V2+32-38 &

-1

Axounxyx/_x/_:\/_y\/_«/_:y«/_
Apa (x,y)=(v3,42)
S 2y
2. {\/§X+3y=7 _ 2\/5x +6y =14
—5-|2x+By =35 |-2/Bx~5y=-15(+)
y=-1

Axdun 2x+J§y:3J§:>2x—J§:3J§:>x=2J§
Apa (X,y)=(2\/§,—1)

S 42
—\/§-{x/§X+\/5y=—4 3{—3X—\/5y=4\/§
V2. [3V2x+By=6  |6x+b6y =62 (+)
3x=4\/§+\/6\/§:>3x=4\/§+2\/§:>x=¥=2\/§
Axon \3x++/2y = 4:»2fﬁ+fy 4=6-2y=-4=

JE y‘%fz‘w

—=2y=-10=>y="-



Apa (x,y):(Z\/§,—5\/§)



